# AN ADDITIONAL TERM BETWEEN ARITHMETIC MEAN AND GEOMETRIC MEAN

E. G. KWON, S. T. LEE AND K. H. SHON

ABSTRACT. An additional term between the arithmetic mean and the geometric mean is presented.

## 1. Introduction

Throughout we let  $X = (X, \mathcal{S}, \mu)$  and  $Y = (Y, \mathcal{T}, \nu)$  be  $\sigma$ -finite measure spaces with positive measures  $\mu$  and  $\nu$ . When we call f defined on  $X \times Y$  measurable it refers to  $(\mathcal{S} \times \mathcal{T})$ -measurable.  $\mu \times \nu$  denotes the product measure of  $\mu$  and  $\nu$  (see [5, Chapter 7]).  $L^1(\mu)$  denotes the space of those Lebesgue integrable (with respect to  $\mu$ ) functions defined on X and  $L^p(\mu)$ , 0 , denotes the space of those complex measurable <math>f defined on X for which  $|f|^p \in L^1(\mu)$ .

In Section 2 we give preliminary results. In Section 3 we give our main results which are related to a result of H. Z. Chuan ([2]) on the arithmetic-geometric mean inequality. In Section 4 we give proofs of the results of Section 3.

# 2. Preliminaries

Concerning the arithmetic-geometric mean inequality, H. Z. Chuan ([2]) inserted a continuum of additional terms between the two sides of the inequality as follows.

Received July 28, 1999.

<sup>2000</sup> Mathematics Subject Classification: Primary 26D15; secondary 28A35. Key words and phrases: Hölder's inequality, arithmetic-geometric mean inequality.

The authors wish to acknowledge the financial support of the Korean Research Foundation in the program year of 1998, Project No. 1998-015-D00022.

THEOREM A ([2]). If n is a natural number, s > 0,  $a_j > 0$ ,  $q_j > 0$  (j = 1, ..., n), and  $q_1 + ... + q_n = 1$  then

$$(2.1) \quad \prod_{j=1}^{n} a_{j}^{q_{j}} \leq \left( s \int_{0}^{\infty} \left[ \prod_{j=1}^{n} (x + a_{j})^{q_{j}} \right]^{-s-1} dx \right)^{-\frac{1}{s}} \leq \sum_{j=1}^{n} q_{j} a_{j}.$$

Theorem A was generalized as

THEOREM B ([4, Theorem 2]). If s > 0,  $\mu(X) = 1$ , and f is a positive function of  $L^1(\mu)$ , then (2.2)

$$G_X f \leq \left\{ s \int_0^\infty \exp\left( \int_X \log\left(y + f(x)\right)^{-s-1} d\mu(x) \right) dy 
ight\}^{-1/s} \leq A_X f.$$

Either of the equalities in (2.2) holds if and only if f(x) = constant a. e.  $[\mu]$ .

Here

$$G_X f = \exp \left( \int_X \log \, f(x) \, d\mu(x) 
ight)$$

and

$$A_X f = \int_X f(x) \, d\mu(x)$$

are respectively the geometric mean and the arithmetic mean of f over X.

If  $0 \le x \le 1$  then Hölder's inequality says that (2.3)

$$\left|\int_Y f_1(y)^x f_2(y)^{1-x} d\nu(y)\right| \leq \left(\int_Y f_1(y) d\nu(y)\right)^x \left(\int_Y f_2(y) d\nu(y)\right)^{1-x}$$

for all positive functions  $f_1$  and  $f_2$  of  $L^1(\nu)$ . It is known that (2.3) can be extended to the case of a multiple product of functions (See, for example, [1], [3], and [6]), and even to a countable product of functions (provided the product converges). The following is a continuous form of (2.3).

THEOREM C ([4, Theorem 1]). Let  $\mu(X) = 1$ . Let f(x,y) be a positive measurable function defined on  $X \times Y$ . Then

$$(2.4) \quad \int_Y \exp\left(\int_X \log f \, d\mu\right) d\nu \; \leq \; \exp\left\{\int_X \log\left(\int_Y f \, d\nu\right) d\mu\right\}.$$

Equality holds in (2.4) as a nonzero finite value if and only if

$$f(x,y) = g(x)h(y)$$
 a.e.  $\mu \times \nu$ 

for a positive  $\mu$ -measurable function g with  $-\infty < \int_X \log g \, d\mu < \infty$  and a positive  $\nu$ -measurable h with  $\int_Y h \, d\nu = 1$ .

If we take

$$X = \{1, 2\}, \ f(x, y) = f_x(y), \ x \in X,$$

and

$$d\mu = (t\chi_{\{1\}} + (1-t)\chi_{\{2\}}) dm,$$

where dm is the counting measure and  $\chi_{\{.\}}$  is the corresponding characteristic function, then (2.4) reduces to (2.3).

LEMMA ([5, p. 74]). If  $\mu(X) = 1$  and F is positive function of  $L^1(\mu)$  then

(2.5) 
$$\lim_{p\to 0} \left( \int_X F^p \, d\mu \right)^{\frac{1}{p}} = \exp \left( \int_X \log F \, d\mu \right),$$

and the convergence is monotone decreasing.

#### 3. Main Results

THEOREM 1. If n is a natural number, s > 0,  $0 , <math>a_j > 0$ ,  $q_j > 0$  (j = 1, ..., n), and  $q_1 + ... + q_n = 1$  then (3.1)

$$\prod_{j=1}^{n} a_{j}^{q_{j}} \leq \left( s \int_{0}^{\infty} \left[ \sum_{j=1}^{n} (x + a_{j})^{q_{j}p} \right]^{-(s+1)/p} dx \right)^{-\frac{1}{s}} \leq \sum_{j=1}^{n} q_{j}a_{j}.$$

In view of Lemma, Theorem 1 reduces to Theorem A by letting  $p \to 0$ . A continuous form of Theorem 1 is as follows.

THEOREM 2. If s > 0,  $0 , <math>\mu(X) = 1$ , and f is a positive function of  $L^1(\mu)$ , then (3.2)

$$G_X f \leq \left\{ s \int_0^\infty \left( \int_X \left( y + f(x) \right)^p d\mu(x) \right)^{-(s+1)/p} dy \right\}^{-1/s} \leq A_X f.$$

Either of the equalities in (3.2) holds if and only if f(x) = constant a. e.  $[\mu]$ .

## 4. Proofs

*Proof of Theorem* 2. To prove the first inequality of (3.2), note that by Lemma

$$\left(\int_X (y+f(x))^p d\mu(x)\right)^{1/p} \ge \exp\left(\int_X \log(y+f(x)) d\mu(x)\right), \quad y > 0,$$

so that by Theorem C

$$\int_{0}^{\infty} \left( \int_{X} (y + f(x))^{p} d\mu(x) \right)^{-(s+1)/p} dy$$

$$\leq \int_{0}^{\infty} \left\{ \exp\left( \int_{X} \log\left(y + f(x)\right) d\mu(x) \right) \right\}^{-s-1} dy$$

$$\leq \exp\left\{ \int_{X} \log\left( \int_{0}^{\infty} (y + f(x))^{-s-1} dy \right) d\mu(x) \right\}$$

$$= \exp\left( \int_{X} \log\frac{1}{s} f(x)^{-s} d\mu(x) \right)$$

$$= \frac{1}{s} \exp\left( \int_{Y} \log f(x) d\mu(x) \right)^{-s} = \frac{1}{s} (G_{X} f)^{-s},$$

which is the desired.

To prove the second inequality of (3.2), we note that if 0 then by Jensen's inequality

$$\left(\int_{Y} (y+f(x))^{p} d\mu(x)\right)^{1/p} \le \int_{Y} (y+f(x)) d\mu(x) = y + A_{X}f$$

for all y > 0. Thus for s > 0

(4.2) 
$$\int_0^\infty \left( \int_X (y + f(x))^p d\mu(x) \right)^{-(s+1)/p} dy$$
$$\geq \int_0^\infty (y + A_X f)^{-s-1} dy$$
$$= \frac{1}{s} (A_X f)^{-s}.$$

This gives the second inequality of (3.2).

Next, in order to have equality sign in the one of the inequalities of (3.2), we should have equality either in (4.1) or in (4.2). By considering the equality case of Jensen's inequality and that of (2.4) as stated in Theorem 1, we conclude that  $f = \text{constant a.e. } [\mu]$ . The proof is complete.

*Proof of Theorem* 1. Theorem 1 follows from Theorem 2 by taking X and  $\mu$  appropriately.

#### References

- E. F. Beckenbach and R. Bellman, *Inequalities, Third Printing*, Springer Verlag, New York, 1961.
- [2] H. Z. Chuan, Note on the inequality of the arithmetic and geometric means, Pacific J. Math. 143 (1990), no. 1, 43-46.
- [3] G. H. Hardy, J. E. Littlewood and G. Pólya, *Inequalities*, Cambridge Univ. Press, Cambridge, 1952.
- [4] E. G. Kwon, Extension of Hölder's inequality, Bull. Austral. Math. Soc. 51 (1995), 369-375.
- [5] W. Rudin, Real and Complex Analysis (2nd, ed.), McGraw-Hill, New York, 1974.
- [6] A. W. Roberts and D. E. Varberg, Convex functions, Academic Press, New York, 1973.
- E. G. Kwon, Department of Mathematics Education, Andong National University, Andong 760-749, Korea

E-mail: egkwon@andong.ac.kr

K. H. Shon, Department of Mathematics, College of Natural Sciences, Pusan National University, Pusan 609-735, Korea *E-mail*: khsohn@hyowon.pusan.ac.kr